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For a parabola whose equation y = E(x — 4)? — 3isits vertex 1
| - "
Gip0ss Y = (X —4)F — 3 Ades g1 e
1 2
For a parabola whose equation V = —(x e 4)2 — 3 is focus
(4,-1) 4-5 [b] -1 [c] @-» [d
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A parabola whose equationis Yy = E (.Zt‘ — 4-)2 — 3 The equation of its
directrix is 3
x=-—1 X=-5 b y=—1 y=-5 d
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A parabola whose equation X = — (y 4)? — 3isopento
Right  (saadl left Jw'| b| Up == Down JiY| d
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The figure opposite is a parabola whose directrix equation is
P——
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The geometric locus of a set of plane points whose distance from a fixed point
is always equal to its distance from a given line called
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When cutting two right circular cones opposite a plane, as

shown in the figure, a conic cut is

B el
Circle

ail ) aded

Hyperbola

b

Bl alad
Ellipse

AlSa alad d
Parabola

1 - -
s so ez dsh Y = —(x — 1)% — 2 asliiea 3 Liisal) gl

1
for a parabola whose length of latus rectum is VY = Z (x == 1)2 — 2
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xz — Zy = 3x + 5 sides

The vertex of a parabola whose general equation is xz — Y= 2x + 1is ’
(-1,2) a (1,-2) b (2,—1) c (—2,1) d
dals ¥z — Zy = 3x + 5 datad dilitan o3 AN pdail) dath

The direction of opening of a parabola whose general equation is 10
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Which of the following equations expresses the opposite figure?
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Q) y=—Z(x—6) +15 | b) y=Z(x—6) + 15
1 2 1 2

C) yz—Z(x+6) +15 | d) y=—Z(x—6) — 15
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The equation of a parabola with vertex (—2,4) and focus (—2,7) is

- L2244 b - 2)°+4
a) y= 12x+ + )y—ﬁ(x+)+

1 1
_ 2 _ 2
c) y= 12(Jnc 2)“+4|d) y= 12(x 2) 4
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The equation of a parabola whose vertex is (4,1) and whose directrix equation

xX=06is 13
1 1
a) x=—§(y—1)2+4 b) x=—§(y+1)2+4
1 1
c) x=—§(y—1)2—4 d) x=§(y—1)2+4
x-1)? +5)?
a;sya,si( ) -I—(y ) = T a5 o) il
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— 1 has center

An ellipse whose equation

(=51 |a] G-1) |b] (L-5 |c¢| (-15) |d
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An ellipse whose equation

a3, -1
9 t 16
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(x-3)*  (y-1)*

'|' - 1has the length of
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Major axis
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From the figure opposite, the length of the
minor axis is
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The equation of an ellipse with center of origin and axial length of 10,8 units

and major axis applies to the x-axis is 17
1 2 1 2
X C X d
y—+—:1 —+y—:1
Zg ]? 1020 6;1
X : X b
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25 16 100 64
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An ellpse whose equation— 1 — = 1 has foc
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A circle with center (—2, 4) and radius 10 units is equal to
20
(x+2)+(y-49*=10 c (x+2)+(y—4)*=100 d
(x—2)+(y+4)*=20 a (x—2) 2 +(y+4)2=100 b
a et Jgha 3 00 Alataa Jiat (X + 5)2 + (y — 1)2 = 16 L
The equation (x + 5)? + (y — 1)? = 16 represents the equation of a circle
with radius
5da 9 16 a Cilda g 4 b Gldag 8 C Sldag 5 d| 21
S 055 (6,7), (—2,1) Lt L k8 3k 5 il
A circle has two sides of a diameter (—2, 1) and (6,7) whose center is 23
(8,6) [a] @8 [b] @ [c] @3 [d
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When cutting two right circular cones, opposite each other
in a plane
As the shape produces a conical cut is
il ) gkt el adad Alsa gkt 24
: a Hyperbola | b ' C Parabola d
Circle Ellipse
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The hyperbola whose equation 9 — = 16 1 has a center
(-1,5) al (1,-5) |b (5,—1) ¢ (=51 d
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The geometric locus of all plane points for which the absolute difference
between their distances from two foci is a constant 28
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The equation of Asymptotes line of a hyperbola whose equation is T 1 1
29
= 1 = 1
y=t4x a y=+-x b y = +2x c y=—t—x d
4 y.
pa 16x2 — 25y2 — 128x — 144 = 0 s
The equation 16x% — 25_}’2 — 128x — 144 = 0 represents 30
5 il ) = il o LAk gt
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s Y2 +4x% —2xy + 3x — 2y — 12 = 0 L

The equation y2 + 4x2 — ny + 3x — Zy —12=0 represents

I o BTy

a| Hyperbola | b Ellipse c Parabola d

3 yila
Circle

Jiliall JEAI oo jaad ) S AV ¥ alaal) (s (s

Which of the following equations can express the opposite form?

c xt—y? —8x—4y=—4 d

31

a 25x% +16y* —8x—4y =4 B >
i Y2 —5x+ 4y — 3 =0 s
The equation y2 — 5x + 4y —3=0 represents 33
5 il 1 ¢k il o LAlsa gt
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